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H B B 88 ( DIGIT ) Bl 38K 4 T o
ﬁs&%%rf FOR E:l»TO P
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10 REM computer m"p

20 INDUT "iB ¢ L & ";M
30 INDPUT "“#% e L 128 ";D
40 N=INT(DPx(LOGC (M)))+1
50 DIM NUM(N)

60 NUM(1)=1

70 DICIT=1

80 FOR E=1 TO P

90 CARRY=0"

100 FOR I=1 TO DICIT

110 PRODUCT=NUM(I)*M+CARRY
120 NUM(I)=PRODUCT MOD 10
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130 CARRY=PRODUCT\10

140 NEXT 1

150 IF CARRY >0 THEN DIGIT=DIGIT+1:NUM(DIGIT)=CARRY
160 NEXT E

170 PRINT M;""";DP;"=";

180 FOR I=DICIT TO 1 STED -1
190 PRINT USINC"#";NUM(I);
200 NEXT I
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144 — FOR E=1 TO 3
x 12 . FOR I=1 TO DIGIT
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NEXT 1
LNEXT E
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1000 REM computer m”p

1010 INDPUT- "#R 48 ) FE 81 "M
1020 INDPUT "B & L 3% "D
1030 N=INT(DP*(LOG (M)))+1
1040 DIM NUM(N):DIM NUM1(N):DIM NUM2(N):DIM NUM3(N)
1050 M1=M MOD 10:NUM(1)=1

1060 M2=M \10:NUM(2)=1

1070 DICIT=1

1080 FOR E=1 TO P

1090 CARRY1=0

1100 DICIT1=DICIT

1110 FOR I=1 TO DIGIT1

1120 DPRODUCT1=NUM(I)*M1+CARRY1
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1130 NUM1(I)=PRODUCT1 MOD 10
1140 CARRY1=PRODUCT1\10

1150 NEXT I

1160 IF CARRY1>0 THEN DICIT1=DIGIT1+1:NUM1(DICIT1)=CARRY1
1170 CARRY2=0

1180 DICIT2=DIGIT

1190 FOR I=1 TO DIGIT2

1200 PRODUCT2=NUM(I)*M2+CARRY2

1210 NUM2(I+1)=PRODUCT2 MOD 10

1220 CARRY2=DPRODUCT2\10

1230 NEXT I

1240 IF CARRY2>0 THEN DIGIT2=DIGIT2+1:NUM2(DIGIT2+1)=CARRY2
1250 CARRY=0

1260 IF DIGIT! >(DIGIT2+1) THEN DIGIT=DIGIT1 ELSE DIGIT=DIGIT2+1
1270 FOR I=1 TO DIGIT

1280 PRODUCT=NUM1(I)+NUM2(I)+CARRY

1290 NUM(I)=PRODUCT MOD 10

1300 CARRY=PRODUCT \10

1310 NEXT I

1320 IF CARRY>0 THEN DICIT=DIGIT+1:NUM(DIGIT)=CARRY

1330 DICIT1=DIGIT:DICIT2=DICIT

1340 NEXT E

1350 DPRINT M;""";p;"=";

1360 FOR I=DICIT TO 1 STED -1

1370 PRINT USING"#";NUM(I);

1380 NEXT I
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10 REM computer 9 !
20 INPUT "ma W —mwzm , BBt 3 R i e ";'N
30 DIM NUM(10)

40 NUM(1)=1 :DIGIT=1
50 FOR E=1 TO N
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60 CARRY=0

70 FOR I=1 TO DIGIT

80 PRODUCT=NUM(I)*E+CARRY
90 NUM(I)=PRODUCT MOD 10

100 CARRY=PRODUCT\10

110 NEXT 1

120 IF CARRY>O THEN NUM(DIGIT+1)=CARRY:DIGIT=DIGIT+1
130 NEXT E

140 PRINT N;"!=";

150 FOR I=DIGIT TO 1 STEP -1
160 PRINT USING "#";NUM(I);

170 NEXT I
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1000 REM computer 99!

1010 INPUT "M Q. — i ®1 = (B VLA M X P o "N

1020 M=1000 v
1030 DIM NUM(M):DIM NUMI1(M):DIM NUM2(M):DIM NiM3(M)
1040 NUM(1)=1

1050 DIGIT=1
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1060 FOR E=1 TO 9
1070 CARRY=0-.

1080 FOR I=1 TO DIGIT

1080 PRODUCT=NUM( I )*E+CARRY

1100 NUM(I)=PRODUCT MOD 10

1110 CARRY=PRODUCT \10

1120 NEXT I _

1130 IF CARRY>O THEN NUM(DIGIT+1)=CARRY:DIGIT=DIGIT+1
1140 NEXT E

1150 FOR E=10 TO N

1160 R1=E MOD 10

1170 CARRY1=0

1180 DIGIT1=DIGIT

1190 FOR I=1 TO DIGIT1

1200 PRODUCT1=NUM(I)*R1+CARRY1
1210 NUM1(1)=PRODUCT1 MOD 10
1220 CARRY1=PRODUCT1\ 10

1230 NEXT I

1240 IF CARRY1>0 THEN NUM1(DIGIT1+1)=CARRY1:DIGIT1=DIGIT1+1
1250 R2=E \ 10

1260 CARRY2=0

1270 DIGIT2=DIGIT

1280 FOR I=1 TO DIGIT2

1290 PRODUCT2=NUM(I)*R2+CARRY2

1300 NUM2(I+1)=PRODUCT2 MOD 10
1310 CARRY2=PRODUCT2\10

1320 NEXT 1
1330 IF CARRY2>0 THEN NUM2(DIGIT2+2)=CARRY2:DIGIT2=DIGIT2+1

1340 IF DIGIT1 > (DIGIT2+1) THEN DIGIT=DIGIT1 ELSE DIGIT=DIGITZ2+1
1350 CARRY=0

1360 FOR I=1 TO DIGIT+1
1370 PRODUCT=NUM1(1)+NUM2(I)+CARRY

1380 NUM(1)=PRODUCT MOD 10
1390 CARRY=PRODUCT \10

1400 NEXT I

1410 IF CARRY>O THEN NUM(DIGIT+1)=CARRY:DIGIT=DIGIT+1
1420 DIGIT1=DIGIT:DIGIT2=DIGIT

1430 NEXT E

1440 PRINT N;"!=";

1450 FOR I=DIGIT TO 1 STEP -1

1460 PRINT USING"#";NUM(I);

1470 NEXT 1
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10 R; = BQ; +R,
R, =BxQ, x10"* +R, x 107!
>{R: =BxQ:x107* +R; X 107!
R; =BxQ; x10™* +R, x 1071

Bl A=BQ, +R,
=BQ, +BxQ, x10™*+R, x 107!
=B(Qo¢+Q: x10"* ) +R, x 107!
=B (Q¢+Q, x107" ) +BXxQ:X 10"+ Rs; X 1072
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10 INPUT "SRR X % F ";N
20 INPUT "SRR X % @ ";D

30 INPUT "M BIst M EZ- BB LU TR ";DIGIT
40 PRINT N;"/";D;"="; ;

50 PRINT USING "###";QUOTIENT; :PRINT".";

60 DIM NUM(DIGIT+1)

70 RESIDE=N MOD D

80 QUOTIENT=N \ D

80 FOR I=1 TO DIGIT

10—
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100 N=RESIDE*10Q"
110 NUM(I)=N\D
120 RESIDE=N MOD D
130 NEXT I
150 FOR I=1 TO DIGIT
160 PRINT USING "#";NUM(I);
170 NEXT 1
B+ :
0k
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RUN
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